
ΘΕΜΑ	
  Β	
  
	
  
Ι.	
  Η	
  πίεση	
   του	
  αίματος	
  αποτελεί	
   έναν	
  από	
   τους	
  δείκτες	
  υγείας	
  ενός	
  ατόμου.	
  Να	
  
απαντήσετε	
  στις	
  ερωτήσεις:	
  	
  

α)	
  Τι	
  εκφράζει	
  ο	
  όρος	
  «πίεση	
  του	
  αίματος»;	
  	
  (2μ)	
  

β)	
   Ποιο	
   είδος	
   πίεσης	
   χαρακτηρίζεται	
   συστολική,	
   ποιο	
   διαστολική,	
   ποιες	
   είναι	
   οι	
  
φυσιολογικές	
  τιμές	
  κάθε	
  μίας;	
  (4μ)	
  

γ)	
   Ποια	
   παθολογική	
   κατάσταση	
   χαρακτηρίζουμε	
   ως	
   αρτηριακή	
   υπέρταση;	
   Ποιες	
  
μπορεί	
  να	
  είναι	
  οι	
  συνέπειές	
  της;	
  (4μ)	
  

δ)	
  Στην	
  περιοχή	
  των	
  φλεβών	
  αλλά	
  και	
  στα	
  τριχοειδή	
  η	
  πίεση	
  ελαχιστοποιείται.	
  Πού	
  
οφείλεται	
  η	
  πτώση	
  της	
  τιμής	
  της	
  πίεσης	
  του	
  αίματος;	
  (2μ)	
  	
  

	
  
ΙΙ.	
  Με	
  τον	
  όρο	
  ωογένεση	
  αναφερόμαστε	
  στη	
  διαδικασία	
  με	
  την	
  οποία	
  παράγονται	
  
τα	
  ωάρια.	
  Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  

α)	
  Πώς	
  ονομάζονται	
  τα	
  πρόδρομα	
  γεννητικά	
  κύτταρα	
  της	
  γυναίκας;	
  Ποιες	
  αλλαγές	
  
υφίστανται	
  προκειμένου	
  να	
  γίνουν	
  ωοκύτταρα;	
  (3μ)	
  
	
  
β)	
  Ποιο	
   είδος	
  αναπαραγωγικού	
  κυττάρου	
  βρίσκεται	
  μέσα	
  σε	
   ένα	
   	
  ωοθυλάκιο;	
  Με	
  
ποια	
   συχνότητα	
   και	
   σε	
   ποιο	
   αριθμό	
   αναπτύσσονται	
   τα	
  ωοθυλάκια	
   στις	
   ωοθήκες;	
  
(5μ)	
  
	
  	
  
γ)	
   Το	
   ωάριο	
   έχει	
   τον	
   μισό	
   αριθμό	
   χρωμοσωμάτων	
   (23	
   χρωμοσώματα)	
   από	
   τον	
  
αριθμό	
  χρωμοσωμάτων	
  που	
  έχουν	
  τα	
  σωματικά	
  μας	
  κύτταρα.	
  Ποια	
  είναι	
  η	
  σημασία	
  
αυτού	
  του	
  γεγονότος	
  για	
  τη	
  δημιουργία	
  ενός	
  ζυγωτού	
  με	
  τον	
  φυσιολογικό	
  αριθμό	
  
χρωμοσωμάτων;	
  (5μ)	
  	
  
	
  
ΘΕΜΑ	
  Δ	
  
	
  
Ένας	
  μαθητής	
  ακούει	
  το	
  κουδούνι	
  του	
  σχολείου	
  να	
  χτυπά	
  στο	
  τέλος	
  της	
  7ης	
  ώρας	
  
και	
   χαρούμενος	
   συγκεντρώνει	
   τα	
   βιβλία	
   του,	
   προκειμένου	
   να	
   επιστρέψει	
   σπίτι.	
  
Το	
   ερέθισμα	
   που	
   προκάλεσε	
   την	
   αντίδραση	
   του	
   μαθητή	
   μεταβιβάστηκε	
   στο	
  
υποδεκτικό	
  όργανο	
  της	
  ακοής,	
  με	
  τη	
  βοήθεια	
  τριών	
  διαφορετικών	
  μέσων.	
  	
  

	
  
• Το	
  πρώτο	
  από	
  αυτά	
  είναι	
  ο	
  ατμοσφαιρικός	
  αέρας,	
  	
  
• το	
  επόμενο	
  μια	
  σειρά	
  στερεών	
  σωμάτων	
  στα	
  οποία	
  συμπεριλαμβάνονται	
  

δύο	
  μεμβράνες	
  και	
  3	
  οστά	
  και	
  το	
  τελευταίο	
  είναι	
  
• ένα	
  υγρό.	
  	
  
	
  
Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  
	
  



I. Ποια	
   είναι	
   τα	
   στερεά	
   σώματα	
   που	
   συμμετείχαν	
   στη	
   μεταβίβαση	
   του	
  
ερεθίσματος	
  στο	
  εσωτερικό	
  των	
  αυτιών	
  του	
  μαθητή	
  και	
  με	
  ποια	
  σειρά;	
  	
  
	
  

II. Πώς	
   ονομάζεται	
   το	
   υγρό	
   που	
   συνέβαλε	
   στη	
   μεταβίβαση	
   του	
   ερεθίσματος	
  
στο	
   υποδεκτικό	
   όργανο	
   της	
   ακοής;	
   Σε	
   ποια	
   κατά	
   σειρά	
   τμήματα	
   του	
  
εσωτερικού	
   αυτιού	
   διαδόθηκαν	
   οι	
   παλμικές	
   κινήσεις	
   του	
   συγκεκριμένου	
  
υγρού;	
  Πώς	
  ονομάζονται	
  τα	
  κύτταρα	
  που	
  αποτελούν	
  το	
  υποδεκτικό	
  όργανο	
  
της	
  ακοής;	
  Πού	
  αλλού	
  στο	
  αυτί	
  υπάρχουν	
  τέτοια	
  κύτταρα;	
  (12+13μ)	
  

	
  


